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R3.3.3) 6 [aE—#y—=xH 10.476] 25 2,619 0 0 0 0 0 0 2,619 0
a3 7 g LR—F #4% R, Bidf 116,176} 100| 116,176 0 1. 163,176 0 0 0 0 0 of
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R3.2.7} 9 [HwU AR 4,900] 50 2, 450| 2, 450 0 0 0 0 0 0 ol
R3.3.12| 10 |FEHRESRMKL GAD) 12,403] 25 3123 0 0 0 0 0 3.123 0 UF
R3.8.8] 11 (EEWFEEESERAM CAM 11,659 50 5, 820 0 0 0 0 0 0 5. B29 0
R3.3.8| 12 liPadfER¥# CR ) 3.468] 50 1,734 0 0 0 0 0 0 1,734 0
R3.3.15| 13 |HIEHF AXEENR 2044 25 511 ¢ 0 0 0 0 0 511 of
R3.3.22| 14 [HVYU R 4,830 50 2,415 2,415 0 0 0 0 0 0 0
R3.3.26] 5 |EEARAREN (RFEHED 4,200 100] 4200 0 0 0 0 4.200 0 0 0
R3.3.26] 16 [BEYvy—+ARBEHERI. 1 R2~3A%) £,400| 100 8,400 0 0 0 0 g, 400 0 0 0
R3.5.28| 17 (A E—LRATLFY—TR 6,384 25 1.595i 0 0 0 0 0 0 1,596 0
83.3.29] 18 |¥ifHRSETH (M ETRD 4,198 100 4, 199| 0 0 0 0 4,199 0 0 0
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R.a.29| 10 [N a0l 100 840} 240 0 0 o| 0 0 0 0 0
R3.3.31) 19 |EIFFHEEEL A 4,062 25' 1.015 0 0 0 0 0 o ¢ 0 1,016
IAH o] 1,208,905 1,226, 200] 20,555 0 o| 1,164,278 0 ol 24708 3.123] 15,547
Rt o] 3.488,975 2.897.606] 313,24 9,500 o] 2090971 0 o| 188788 35.455| 206.678




